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1. Answer the following questions briefly:

(a) Name the continent in which
the Amazon Basin in located.

ANSWER:

South America.

https://www.evidyarthi.in



CLASS Vii CH 8 HUMAN ENVIRONMENT INTERACTIONS (THE

TROPICAL AND THE SUBTROPICAL REGION) NCERT

www.evidyarthi.in

(b) What are the crops grown by the
people of the Amazon Basin?

ANSWER: The people of

the Amazon Basin grow
tapioca, pineapple and
sweet potato. Cash crops
such as coffee, maize and
cocoa are also grown.
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(c) Name the birds that you
are likely to find in the rain
forests of the Amazon.

ANSWER:

Toucans and
humming birds are
very common in rain
forests(amazon).
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(d) What are the major
cities located on the river
Ganga?

ANSWER: The major

cities located on the river
Ganga are Allahabad,
Kanpur, Varanasi,
Lucknow, Patna and
Kolkata.

* External boundaries may be incorrect

CHINA

GHANDIGARH
PAKISTAN.Z oot

-
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(e) Where is the one-homed
rhinoceros found?

ANSWER: The one-
homed rhinoceros is
found in the
Brahmaputra plain.

https://www.evidyarthi.in



CLASS Vii CH 8 HUMAN ENVIRONMENT INTERACTIONS (THE

TROPICAL AND THE SUBTROPICAL REGION) NCERT

www.evidyarthi.in
2. Tick the correct answer:

(a) Toucans are a type of

(1) BIRDS
(II) ANIMALS
(ln) CROPS.
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(b) Manioc is the staple food of

(1) GANGA BASIN
(II) AFRICA
(Il1) AMAZON.
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(c) Kolkata is located on the river

(1) ORANGE
(i) HOOGHLY
(Il) BHAGIRATHI
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(d) Deodars and firs are a type of

() CONIFEROUS TREES
(II) DECIDUOUS TREES
(Il) SHRUBS.
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(e) Bengal tiger is found in

(1) MOUNTAINS
(II) DELTA AREA
(1) AMAZON
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ANSWER:
(a) - (i),
(b) - (iii),
(c) - (ii),
(d) - (i),
(e) - (ii).
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3. Match the following:

(i) Cotton textile (a) Assam
(ii) Maloca (b) Terrace farming
(iii) Piranha (¢) Sericulture
(iv) Silk worm (d) Slanting roof
(v) Kaziranga (e) Ganga plain

(f) Varanasi

(g)Fish
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(i) The rainforests are depleting.
ANSWER: The rainforests are DEPLETING

depleting because of the
developmental activities that are
going on at fast speed. The
biologically diverse rainforests are
being destroyed day by day. It is
estimated that a large area of the
rainforest has been disappearing
annually in the Amazon basin.
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As a result the topsoil is

washed away when the RAINFORESTS
rains fall and the lush
green forest turns into a
barren landscape.
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(ii) Paddy is grown in the Ganga-
Brahmaputra plains.

ANSWER: The

cultivation of paddy
requires sufficient water. §&
The Ganga-Brahmaputra
plains fulfil this condition A
because they receive |
high rainfall.
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